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1. A sum of Rs. 100 is invested at 10% per

annum compound interest (compounded

annually) for two years. How much

interest will be received after two years

100 #i;s dh jkf'k dks nks lky ds fy, 10» çfr o"kZ
pØòf¼ C;kt (okf"kZd :i ls la;ksftr) ij fuos'k
fd;k tkrk gSA nks lky ckn fdruk C;kt feysxk\

(a) Rs. 42 (b) Rs. 21

(c) Rs. 210 (d) Rs. 20

2. A sum of Rs. 2000 is invested at 10% per

annum compound interest (compounded

annually) for two years. How much

interest will be received after two years

2000 #i;s dh jkf'k dks nks lky ds fy, 10» çfr
o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij
fuos'k fd;k tkrk gSA nks lky ckn fdruk C;kt
feysxk\

(a) Rs. 420 (b) Rs. 2420

(c) Rs. 210 (d) Rs. 400

3. A sum of ` 900 is invested at compound

interest (compounded annually) for 2

years. If the rate of interest is 10% per

annum, then what will be the amount?

` 900 dh jkf'k 2 o"kks± ds fy, pØòf¼ C;kt (okf"kZd
:i ls la;ksftr) ij fuos'k dh tkrh gSA ;fn C;kt
dh nj 10» izfr o"kZ gS] rks feJ/u fdruk gksxk\

SSC MTS 7/08/2019 (Morning)

(a) ` 1071 (b) ` 1089

(c) ` 1289 (d) ` 1121

4. The compound interest (compounded

annually) on a sum of money invested for

two years is ` 10125. If the rate of

interest in 25% per annum, then what is

the amount after these two years?

nks o"kksZa ds fy, fuos'k dh x;h fdlh jkf'k ij
pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ` 10125
gSA ;fn C;kt dh nj 25» izfr o"kZ gS] rks bu nks o"kks±
ds ckn feJ/u Kkr djsaA

SSC MTS 7/08/2019 (Evening)

(a) ` 28125 (b) ` 32275

(c) ` 30625 (d) ` 26275

COMPOUND INTEREST pØo`f¼ C;kt

5. A sum of ` 3000 is invested at 20% p.a.

compound interest (compounded

annually). What is the compound interest

for two years?

` 3000 dh jkf'k dks 20» izfr o"kZ ds pØòf¼ C;kt
nj (okf"kZd :i ls la;ksftr) ij fuos'k fd;k x;k
gSA 2 o"kks± dk pØòf¼ C;kt fdruk gS\

SSC MTS 6/08/2019 (Morning)

(a) ` 1360 (b) ` 1200

(c) ` 1320 (d) ` 1440

6. If ` 12000 is invested at 20% p.a.

compound interest (compounded

annually) for 2 years, then calculate the

interest.

;fn ` 12000 dks 20» izfr o"kZ dh nj ls pØo`f¼
C;kt (okf"kZd :i ls la;ksftr) ij 2 o"kZ ds fy,
fuos'k fd;k x;k gS rks C;kt fdruh gS\

SSC MTS 6/08/2019 (Afternoon)

(a) ` 5280 (b) ` 4280

(c) ` 4800 (d) ` 5640

7. The compound interest on a certain sum

of money for 3 years, compounded

annually, at a rate of interest of 10% per

annum is Rs 1,324. The sum is:

C;kt dh x.kuk okf"kZd pØo`f¼ vk/kj ij djrs
gq,] fdlh fuf'pr jkf'k ij 10» okf"kZd C;kt nj ls
3 o"kZ dk pØo`f¼ C;kt #- 1]324 gksrk gSA jkf'k
Kkr dhft,A

SSC CHSL 9/08/2021 (Shift-01)

(a) Rs 4,000 (b) Rs 5,000

(c) Rs 5,500 (d) Rs 4,500

8. The simple interest on a sum of Rs 12,000

at the end of 5 years is Rs 6,000. What

would have been the compound interest

on the same sum at the same rate for 3

years when compounded annually?

#- 12]000 dh /ujkf'k ij 5 o"kks± ds var esa lk/
kj.k C;kt #- 6]000 gksrk gSA blh /ujkf'k ij 3 o"kks±
esa leku nj ls okf"kZd :i ls pØo`f¼ gksus okyk
pØòf¼ C;kt fdruk gksxk\

SSC CHSL 10/08/2021 (Shift-01)

(CLASSROOM SHEET)
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(a) Rs 3972 (b) Rs 3970

(c) Rs 2520 (d) Rs 3600

9. What will be the compound interest for 3
years on ` 5120 at the rate of 12.5%
(compounded annually)?

` 5120 dh jkf'k ij 12-5» dh nj ls 3 o"kks± dk
pØòf¼ C;kt (okf"kZd :i ls la;ksftr) fdruk gksxk\

SSC MTS 13/08/2019 (Morning)

(a) ` 2280 (b) ` 1960

(c) ` 2120 (d) ` 2170

10. A sum of ` 1000 is invested on compound
interest (compounded anually) for three
years. If the rate of interest is 10% per
annum for the first two years and 50% per
annum for the third year, then what will
be the interest?

` 1000 dh jkf'k rhu o"kks± ds fy, pØo`f¼ C;kt
(okf"kZd :i ls la;ksftr) ij fuos'k dh x;h gSA ;fn
C;kt dh nj igys nks o"kks± ds fy, 10» izfr o"kZ
vkSj rhljs o"kZ ds fy, 50» izfr o"kZ gS] rks C;kt
fdruk gksxk\

SSC MTS 8/08/2019 (Morning)

(a) ` 612 (b) ` 655

(c) ` 815 (d) ` 756

11. How much will a principal of ` 5000

invested on compound interest (compounded

annually) amount to, in three years at a

rate of 50% per annum?

pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij fuos'k
fd;k x;k ` 5000 dk ewy/u 50» izfr o"kZ dh nj
ls rhu o"kks± esa fdruk gks tk,xk\

SSC MTS 16/08/2019 (Evening)

(a) ` 16,375 (b) ` 11,250

(c) ` 16,875 (d) ` 17,275

12. What is the present value of ` 14,739

payable in 3 years at the rate of 6.25%

yearly compound interest?

6-25» okf"kZd pØo`f¼ C;kt dh nj ls 3 o"kZ esa ns;
` 14]739 dh jkf'k dk vkt dk eku fdruk gS\

SSC MTS 21/08/2019 (Evening)

(a) ` 12184 (b) ` 12288

(c) ` 12473 (d) ` 12148

13. A certain sum invested on compound

interest (compounded annually) grows to

` 5040 in three years. If the rate of

interest is 20% for the first year, 40% for

the second years and 50% for the third

years, then what is the sum?

pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij fuos'k
dh x;h ,d fuf'pr jkf'k rhu o"kks± esa ` 5040 c<+
tkrh gSA ;fn C;kt dh nj igys o"kZ ds fy, 20»]
nwljs o"kZ ds fy, 40» vkSj rhljs o"kZ ds fy, 50»
gS] rks ;g jkf'k Kkr djsaA

SSC MTS 7/08/2019 (Morning)

(a) ` 1210 (b) ` 2566

(c) ` 1800 (d) ` 2000

14. Find the compound interest (in Rs) on a

sum of Rs 7,500 for 4 years if the rate of

interest is 20% per annum for the first

two years and 10% per annum for the

next two years. (The interest is

compounded annually.)

#- 7]500 dh /ujkf'k ij 4 o"kZ esa izkIr pØo`f¼
C;kt (#- esa) Kkr djsa] ;fn izFke nks o"kZ ds fy,
C;kt nj 20» okf"kZd gS vkSj vxys nks o"kZ ds fy,
C;kt nj 10» okf"kZd gSA (C;kt dh x.kuk okf"kZd
pØòf¼ vkèkkj ij gksrh gS)A

SSC CHSL 10/08/2021 (Shift-02)

(a) 6,558 (b) 5,658

(c) 5,586 (d) 5,568

15. A sum of Rs. 200 is invested at 10% per

annum compound interest (compounded

annually) for 1.5  years. How much

interest will be received after 1.5 years

200 #i;s dh jkf'k dks 1-5 o"kksaZ ds fy, 10» çfr
o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij
fuos'k fd;k tkrk gSA 1-5 lky ckn fdruk C;kt
feysxk\

(a) Rs. 31 (b) Rs. 21

(c) Rs. 310 (d) Rs. 20

16. A sum of Rs. 2000 is invested at 10% per

annum compound interest (compounded

annually) for 2.5  years. How much

interest will be received after 2.5 years

2000 #i;s dh jkf'k dks 2-5 o"kksaZ ds fy, 10» çfr
o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij
fuos'k fd;k tkrk gSA 2-5 lky ckn fdruk C;kt
feysxk\

(a) Rs. 541 (b) Rs. 241

(c) Rs. 310 (d) Rs. 2541

17. The compound interest on a certain sum

in 
1

2
2

 years at 10% p.a., interest

compounded yearly, is ` 1,623. The sum
is:
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fdlh fuf'pr jkf'k ij 10» izfr o"kZ okf"kZd pØòf¼

C;kt dh nj ls 
1

2
2

 o"kks± dk pØòf¼ C;kt `1]623

gSA ;g jkf'k gS %
SSC CGL 4 June/2019 (Afternoon)

(a) ` 5,000 (b) ` 6,000

(c) ` 6,500 (d) ` 7,200

18. What is the compound interest (in Rs) on a

sum of Rs 25,000 for 
2

3
5

years at 10% p.a.,

if the interest is compounded annually?

25000 :i;s dh jkf'k ij 10» okf"kZd C;kt nj ls

2
3

5
o"kksZa dk pØo`f¼ C;kt (:i;s esa) D;k gksxk\ C;kt

okf"kZd :i ls pØo`f¼ fd;k tkrk gSA
SSC PHASE IX 2022

(a) 9,606 (b) 8,275

(c) 9,516 (d) 8,425

19. The simple interest on a certain sum for

1
3

2
 years at 10% per annum is ` 2,940.

What will be the compound interest on

the same sum for 
1

2
2

 years at the same

rate when interest is compounded yearly
(nearest to a rupee)?

fdlh fuf'pr jkf'k ij 10» izfr o"kZ dh nj ls  
1

3
2

o"kZ dk lk/kj.k C;kt ` 2940 gSA blh jkf'k ij blh

nj ls 
1

2
2

 o"kks± dk pØo`f¼ C;kt Kkr djsa tc

C;kt dh pØòf¼ okf"kZd gSA (,d #i;s ds fudVre)
SSC CGL 1 July 2019 (Evening)

(a) ` 2,272 (b) ` 2,227

(c) ` 2,327 (d) ` 2,372

20. Find the ratio of principal to amount. If

the rate of interest is 
2

16 %
3

per annum

compounded annually for 
1
1
4

 years.

ewyèku vkSj feJèku dk vuqikr Kkr dhft, ;fn

pØòf¼ C;kt dh nj 
2

16 %
3

okf"kZd rFkk le; 
1
1
4

o"kZ gSA

(a) 144:175 (b) 144:169

(c) 125:144 (d) 175:144

21. Find the ratio of principal to amount. If

the rate of interest is 
1

12 %
2

per annum

compounded annually for 1 year and 2

months.

ewyèku vkSj feJèku dk vuqikr Kkr dhft, ;fn

pØo`f¼ C;kt dh nj 
1

12 %
2

okf"kZd rFkk le; 1

o"kZ 2 ekg gSA

(a) 441:625 (b) 384:441

(c) 400:441 (d) 441:400

22. Find the ratio of principal to amount. If

the rate of interest is 12% per annum

compounded annually for 2 year and 5

months.

ewyèku vkSj feJèku dk vuqikr Kkr dhft, ;fn
pØo`f¼ C;kt dh nj 12» okf"kZd rFkk le; 2 o"kZ
5 ekg gSA

(a) 9261:8000 (b) 3125:4116

(c) 8000:9261 (d) 4116:3125

23. What is the compound interest (in Rs) on

a sum of Rs 46,000 for 
2

2
5

 years at 15%

per annum, interest being compounded

annually (nearest to a Rs)?

C;kt dh x.kuk okf"kZd pØo`f¼ vk/kj ij djrs
gq,] 15» okf"kZd C;kt dh nj ls #- 46]000 dh

jkf'k ij 
2

2
5
 o"kZ esa izkIr pØo`f¼ C;kt (#- eas)

Kkr djsa (fudVre #- rd)A
SSC CHSL 12/08/2021 (Shift-01)

(a) 18,458 (b) 19,458

(c) 19,485 (d) 18,485

24. Find the ratio of principal to amount. If

the rate of interest is 12% per annum

compounded 5 monthly for 1 year and 3

months.

ewyèku vkSj feJèku dk vuqikr Kkr dhft, ;fn
pØòf¼ C;kt dh nj 12» okf"kZd (C;kt dh x.kuk
izR;sd 5 ekg ij gksrh gS) rFkk le; 1 o"kZ 3 ekg gSA

(a) 10000:926 (b) 8000:9261

(c) 21600:9261 (d) 9261:8000
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25. Find the ratio of principal to amount. If the rate

of interest is 12% per annum compounded 7

monthly for 1 year and 9 months.

ewyèku vkSj feJèku dk vuqikr Kkr dhft, ;fn
pØòf¼ C;kt dh nj 12» okf"kZd (C;kt dh x.kuk
izR;sd 7 ekg ij gksrh gS) rFkk le; 1 o"kZ 9 ekg gSA
(a) 10000:926 (b) 8000:9261

(c) 21600:9261 (d) 9261:8000

26. What is the compound interest (in Rs) on

a sum of Rs 8192 for 
1

1
4

 years at 15% per

annum, if interest is compounded 5-

montly?

;fn C;kt dh x.kuk 5&ekfld pØòf¼ vk/kj ij gksrh
gS] rks izfr o"kZ 15» dh nwj ls 8192 #i;s dh jkf'k ij

1
1

4
 o"kZ esa izkIr pØòf¼ C;kt (: esa) Kkr djsaA

SSC CGL 13/08/2021 (Morning)

(a) 1,640 (b) 1,740

(c) 1,634 (d) 1,735

27. What is the difference between the

compound interest, when interest is

compounded 5-monthly, and the simple

interest on a sum of ` 12,000 for 
1

1
4

years at 12% per annum?

` 12000 dh jkf'k ij 12» dh nj ls 
1

1
4
 o"kZ ds

pØo`f¼ C;kt (5 ekg dh pØo`f¼) rFkk lkèkkj.k
C;kt esa varj Kkr djsaA

SSC CHSL 01/07/2019 (Evening)

(a) ` 90 (b) ` 91.50

(c) ` 93 (d) ` 92.50

28. What is the compound interest on ` 5000

in 2 years at the rate of 20% per annum?

(interest compound half yearly)

` 5000 ij 20» izfr o"kZ dh nj ls 2 o"kks± dk
pØo`f¼ C;kt Kkr djsaA (C;kt dh nj pØo`f¼
v¼Zokf"kZd gS)

SSC MTS 19 August 2019 (Morning)

(a) ` 2340.50 (b) ` 2275.50

(c) ` 2290.50 (d) ` 2320.50

29. What will be the compound interest (in

Rs) on a sum of Rs 7,200 for 18 months

at a rate of 20% per annum, if the

interest is compounded half-yearly

(nearest to an integer)?

;fn C;kt dh x.kuk v/Zokf"kZd pØo`f¼ :i ls
(iw.kk±d ds fudVre) dh xbZ gks rks #- 7]200 dh
jkf'k ij 20» dh okf"kZd nj ls 18 eghus ds fy,
pØòf¼ C;kt (#- esa) fdruk gksxk\

SSC CHSL 5/08/2021 (Shift-02)

(a) 2,833 (b) 2,383

(c) 3,238 (d) 2,338

30. The simple interest on a certain sum for

3  years at 12% p.a. is Rs 6,750. What is

the compound interest (in Rs) on the

same sum for 2 years at 20% p.a., if

interest is compounded half-yearly?

(rounded off to the nearest Rs)

,d fuf'pr /ujkf'k ij] 12» okf"kZd C;kt nj ij
3 o"kks± ds lk/kj.k C;kt dh jkf'k #- 6]750 gSA mlh
/ujkf'k ij] 20» okf"kZd C;kt nj ij 2 o"kks± ds
pØo`f¼ C;kt dh jkf'k (#- esa) fdruh gksxh] ;fn
C;kt v¼Zokf"kZd :i ls pØo`f¼ fd;k tkrk gS\
(fudVre #- esa iw.kk±fdr)

SSC CHSL 12/04/2021 (Shift-03)

(a) 8000 (b) 8702

(c) 6750 (d) 7729

31. A certain sum becomes Rs. 13650 at 15%

p.a. simple interest after 2 years. What will

be the amount (in Rs.) of the same sum

after 1 year at the same of interest, if the

interest is compound half yearly? (nearest

to a Rs.)

15» okf"kZd lk/kj.k C;kt nj ij] ,d fuf'pr jkf'k
2 o"kZ ckn 13650 #i;s gks tkrh gSA leku v¼Z&okf"kZd
pØo`f¼ C;kt nj ij ogh jkf'k 1 o"kZ ckn fdruh gks
tk,xh (:i;s esa) fudVre :i;s rd

SSC CGL 17/08/2021 (Morning)

(a) 13625 (b) 11000

(c) 12134 (d) 10500

32. Calculate the compound interest on

` 15,625 for 2 years at the rate of 12%

p.a., if the interest is compounded 8-

monthly?

12» okf"kZd nj ls 2 o"kks± ds fy, ` 15]625 dh
jkf'k ij pØo`f¼ C;kt fdruk gS] ;fn C;kt dks
8&ekg ij la;ksftr fd;k tkrk gS\

SSC MTS 22 August 2019 (Afternoon)

(a) ` 3075 (b) ` 4058

(c) ` 3675 (d) ` 4088
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33. A sum of Rs. 1000 is invested at 10% per

annum compound interest (compounded

annually) for 2  years. How much interest

will be received after two years

1000 #i;s dh jkf'k dks nks lky ds fy, 10» çfr
o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij
fuos'k fd;k tkrk gSA 2 lky ckn fdruk C;kt feysxk\

(a) Rs. 200 (b) Rs. 210

(c) Rs. 211 (d) Rs. 1210

34. A sum of Rs. 1000 is invested at 20% per

annum compound interest (compounded

annually) for 2  years. How much interest

will be received after two years

1000 #i;s dh jkf'k dks nks lky ds fy, 20» çfr
o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij
fuos'k fd;k tkrk gSA 2 lky ckn fdruk C;kt feysxk\

(a) Rs. 400 (b) Rs. 440

(c) Rs. 432 (d) Rs. 1440

35. A sum of Rs. 1000 is invested at 7% per

annum compound interest (compounded

annually) for 2  years. How much interest

will be received after two years

1000 #i;s dh jkf'k dks nks lky ds fy, 7» çfr
o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr) ij
fuos'k fd;k tkrk gSA 2 lky ckn fdruk C;kt feysxk\

(a) Rs. 150 (b) Rs. 169

(c) Rs. 144.9 (d) Rs. 139

36. What will be the compound interest on a

sum of ` 1200 for 2 years at the rate of

20% per annum when the interest is

compounded yearly?

` 1200 ij 20» izfr o"kZ dh nj ls 2 o"kZ dk pØòf¼
C;kt Kkr djsa tc C;kt dh pØòf¼ okf"kZd gS\

SSC MTS 2 August 2019 (Afternoon)

(a) ` 624 (b) ` 504

(c) ` 576 (d) ` 528

37. The compound interest (in Rs, to the

nearest integer) on Rs 8,950 for 2 years

at the rate of 9% per annum, compounded

annually, is:

#- 8]950 dh jkf'k ij 2 o"kZ ds fy, 9» izfro"kZ ds
fglkc ls pØo`f¼ C;kt (#- esa] fudVre iw.kk±d
rd) fdruk gksxk] vxj bls okf"kZd :i ls x.kuk
fd;k tkrk gS\

SSC CHSL 12/04/2021 (Shift-02)

(a) 1523 (b) 1683

(c) 1685 (d) 1468

38. A sum of Rs. 10000 is invested at 2% and

3%  per annum compound interest

(compounded annually) for the 1st and

2nd year respectively. How much interest

will be received after two years

10000 #i;s dh jkf'k igys rFkk nwljs o"kZ ds fy,
Øe'k% 2» rFkk 3» çfr o"kZ pØo`f¼ C;kt (okf"kZd
:i ls la;ksftr) ij fuos'k fd;k tkrk gSA 2 lky
ckn fdruk C;kt feysxk\

(a) Rs. 600 (b) Rs. 625

(c) Rs. 506 (d) Rs. 515

39. A sum of Rs. 10000 is invested at 5% and
7% per annum compound interest
(compounded annually) for the 1st and
2nd year respectively. How much interest
will be received after two years

10000 #i;s dh jkf'k igys rFkk nwljs o"kZ ds fy,
Øe'k% 5» rFkk 7» çfr o"kZ pØo`f¼ C;kt (okf"kZd
:i ls la;ksftr) ij fuos'k fd;k tkrk gSA 2 lky
ckn fdruk C;kt feysxk\
(a) Rs. 1244 (b) Rs. 1032

(c) Rs. 944 (d) Rs. 1235

40. If the compound interest on a certain
sum of money for 2 years at 5% p.a. is
` 328, then the sum is equal to :

;fn 2 o"kZ ds fy, 5» izfro"kZ dh nj ls ,d jkf'k
ij pØòf¼ C;kt ` 328 gS] rks jkf'k Kkr djsaA

SSC CHSL 26/10/2020 (Morning)

(a) ` 3600 (b) ` 3500

(c) ` 3000 (d) ` 3,200

41. The compound interest for two years at

12% per annum is ` 477. What is the

principal amount (in `) invested?

12» izfr o"kZ dh nj ls nks o"kks± dk pØo`f¼ C;kt
` 477 gSA fuos'k fd;k x;k ewy /u (` esa) Kkr djsaA

SSC MTS 9/08/2019 (Morning)

(a) 1875 (b) 1500

(c) 2000 (d) 1650

42. If the compound interest is compounded
annually, then what sum will become  `
24494.40 in 2 years at the rate of 8%
compound interest?

;fn pØo`f¼ C;kt okf"kZd :i ls la;ksftr fd;k
tkrk gS] rks 8» okf"kZd pØo`f¼ C;kt dh nj ls
fdruh jkf'k 2 o"kZ esa ` 24494-40 gks tk,xh\

SSC MTS 2019
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(a) ` 21200 (b) ` 22400

(c) ` 21000 (d) ` 22000

43. Find the compound interest at the rate of
7% p.a. compounded annually for two
years on the principal that yields a
simple interest of ` 9450 for 3 years at
7% p.a.?

fdlh jkf'k ij 7» okf"kZd nj ls 3 o"kZ ds fy, lk/
kj.k C;kt ` 9450 gS rks 7» okf"kZd nj ls nks o"kZ ds
fy, ml jkf'k dk okf"kZd la;ksftr pØo`f¼ C;kt
fdruk gksxk\

SSC CPO 15/03/2019 (Evening)

(a) ` 12,345.20 (b) ` 6,520.50

(c) ` 10,127 (d) ` 12,678.40

44. What will be the compound interest on a
sum of ` 1200 for 2 years at the rate of
20% per annum when the interest is
compounded yearly?

` 1200 ij 20» izfr o"kZ dh nj ls 2 o"kZ dk pØòf¼
C;kt Kkr djsa tc C;kt dh pØòf¼ okf"kZd gS\

SSC MTS 2/08/2019 (Afternoon)

(a) ` 624 (b) ` 504

(c) ` 576 (d) ` 528

45. The compound interest on a certain sum
of money at 11% for 2 years is ` 6963. Its

simple interest (in `) at the same rate and
for the same period is :

fdlh fuf'pr jkf'k ij 11» dh nj ls 2 o"kZ dk
pØo`f¼ C;kt ` 6963 gSA leku nj ls leku vof/
ds fy, bldk lk/kj.k C;kt fdruk gksxk\

SSC CHSL 8/07/2019 (Afternoon)

(a) ` 6500 (b) ` 6600

(c) ` 6750 (d) ` 6000

46. The compound interest on a certain sum

of money at 21% for 2 years is ` 9,282.
Its simple interest (in `) at the same rate
and for the same period is :

fdlh fuf'pr jkf'k ij 21» dh nj ls 2 o"kZ dk
pØo`f¼ C;kt 9282 #i;s gSA leku nj ls leku
vof/ ds fy, bldk lk/kj.k C;kt Kkr djsaA

SSC CHSL 8/07/2019 (Evening)

(a) ` 8750 (b) ` 8400

(c) ` 8000 (d) ` 8500

47. The compound interest on a certain sum
of money at 21% for 2 years is ` 6,961.5.
Its simple interest (in `) at the same rate

and for the same period is :

fdlh fuf'pr jkf'k ij 21» dh nj ls 2 o"kZ dk
pØo`f¼ C;kt ` 6961-5 gSA leku nj ls rFkk leku
vof/ ds fy, bldk lk/kj.k C;kt Kkr djsaA

SSC CHSL 9/06/2019 (Morning)

(a) ` 6300 (b) ` 6500

(c) ` 6000 (d) ` 6750

48. A certain sum amounts to Rs 14,641 in 4
years at 10% p.a. when interest is
compounded annually. What will be the

amount of the same sum (in Rs) in 
2

3
5

 years

at the same rate at simple interest?

,d fuf'pr jkf'k 10» çfr o"kZ dh nj ls 4 o"kks± esa
14]641 #i;s gks tkrh gSA tc C;kt okf"kZd :i ls

la;ksftr gksrk gSA leku jkf'k dh jkf'k (# esa) 2
3

5
 o"kZ

esa leku nj ij lk/kj.k C;kt ij fdruh gksxh\
SSC PHASE IX 2022

(a) 14,000 (b) 13,600

(c) 13,400 (d) 13,200

49. The simple interest on a sum of money at

10% per annum for 4 years is Rs 3,200.

What will be the amount (in Rs) of the

same sum for the same period at the same

rate of interest when the interest is

compounded annually?

,d /ujkf'k ij 10» okf"kZd C;kt dh nj ls 4 o"kksaZ
esa izkIr lk/kj.k C;kt #- 3]200 gSA ;fn C;kt okf"kZd
:i ls pØo`f¼) gksrk gks] rks leku jkf'k ij leku
vof/ esa leku C;kt ls ij izkIr feJ/u Kkr dhft,A

SSC CGL 20.04.2022 (2nd Shift)

(a) 11,172.80 (b) 11,712.80

(c) 11,127.80 (d) 11,217.80

50. A certain sum is deposited for 4 years at a

rate of 10% per annum on compound

interest compounded annually. The

difference between the interest at the end

of 2 years and that at the end of 4 year is

Rs. 5082. Find the sum (in Rs.)

dksbZ jkf'k okf"kZd :i ls pØòf¼ gksus okyh 10» okf"kZd

C;kt nj ij 4 o"kZ ds fy, tek dh tkrh gSA 2 o"kZ ds

var esa vkSj 4 o"kZ ds var esa feyus okys C;kt ds chp

dk varj :i;s 5082 gSA og jkf'k (:i;s esa) Kkr dhft,A

SSC CGL 11.04.2022 (1st Shift)

(a) 20000 (b) 25500

(c) 50820 (d) 10164

51. A sum of Rs. 1000 is invested at 10% per
annum compound interest (compounded

annually) for 
1

1
5

 years. How much inter-

est will be received after 
1

1
5

 years.
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1000 #i;s dh jkf'k dks 
1

1
5
 lky ds fy, 10»

çfr o"kZ pØo`f¼ C;kt (okf"kZd :i ls la;ksftr)

ij fuos'k fd;k tkrk gSA 
1

1
5
 lky ckn fdruk C;kt

feysxk\
(a) Rs. 122 (b) Rs. 120

(c) Rs. 210 (d) Rs. 121

52. A sum of Rs. 1000 is invested at 12% per
annum compound interest (compounded 5

monthly) for 1 year 3 months. How much
interest will be received after 1 year 3
months.

1000 #i;s dh jkf'k dks 1 lky 3 efgus ds fy,
10» çfr o"kZ pØo`f¼ C;kt (5 ekg esa la;ksftr)
ij fuos'k fd;k tkrk gSA 1 lky 3 efgus ckn fdruk
C;kt feysxk\

(a) Rs. 150 (b) Rs. 144

(c) Rs. 139.6 (d) Rs. 157.625

53. A sum of ` 2000 is invested at compound

interest (compounded annually). Find the

amount after 30 months, if the rate of

interest is 10% p.a.

` 2000 dh jkf'k dks pØof̀¼ C;kt (okf"kZd :i ls
la;ksftr) ij fuos'k fd;k tkrk gSA ;fn C;kt dh nj
10» izfr o"kZ gS] rks 30 ekg ds ckn feJèku fdruk
gksxk\

SSC MTS 5/08/2019 (Evening)

(a) ` 2538

(b) ` 2524

(c) ` 2541

(d) ` 2532

54. The interest on ` 24,000 in year
compounded annually when the rate are
8% p.a. and 10% p.a. for two successive
years is :

` 24]000 ij 8» izfr o"kZ rFkk 10» izfr o"kZ dh nj
ls okf"kZd pØo`f¼ C;kt ij nks yxkrkj o"kks± dk
C;kt Kkr djsaA

SSC CPO 16/03/2019 (Afternoon)

(a) ` 3994 (b) ` 4512

(c) ` 5040 (d) ` 5866

55. The simple interest on a certain sum at

20% p.a. for two years is ` 250. What is

the compound interest (compounded

annually) on the same sum at the same

rate for the same period?

fdlh fuf'pr jkf'k ij 20» izfro"kZ dh C;kt nj ls
nks o"kks± dk lk/kj.k C;kt ` 250 gS leku C;kt nj
ij leku vof/ ds fy, leku jkf'k ij pØo`f¼
C;kt (okf"kZd :i ls la;ksftr) fdruh gS\

SSC MTS 5/08/2019 (Evening)

(a) ` 275 (b) ` 900

(c) ` 550 (d) ` 750

56. The simple interest on a certain sum at

the end of three year at 5% p.a. is ` 1200.

The compound interest on the same sum

for the same period at the same rate is

(interest compounded yearly) :

fdlh fuf'pr jkf'k ij 5» izfr o"kZ dh nj ls rhu
o"kks± ds var esa lk/kj.k C;kt ` 1200 gSA blh jkf'k
ij blh vof/ ds fy, brus gh C;kt nj ls fdrus
pØo`f¼ C;kt dh izkfIr gksxh\ (C;kt dk la;kstu
okf"kZd gS)

SSC CGL 3/03/2020 (Evening)

(a) ` 1800 (b) ` 1260

(c) ` 820 (d) ` 1261

57. A sum invested at 10% compound

interest per annum becomes ` 19,965 in

3 years. The same sum will become ` x in

2
2

5
 years. If the interest is compounded

annually in both the cases, then find the

value of x?

10» izfr o"kZ pØo`f¼ C;kt nj ij fuosf'kr dksbZ
jkf'k 3 o"kZ esa ` 19]965 gks tkrh gSA ;gh jkf'k leku

C;kt nj ij 
2

2
5

 o"kks± esa ` x gks tk,xhA ;fn nksuksa

gh ekeyksa esa C;kt dks okf"kZd :Ik ls la;ksftr fd;k
tkrk gS] rks x dk eku fdruk gS\

SSC MTS 20/08/2019 (Afternoon)

(a) ` 18,855 (b) ` 18,768

(c) ` 18,867 (d) ` 18,876

58. What is the difference (in Rs) between the

simple interest and the compound interest

on a sum of Rs 8000 for 
2

2
5

 years at the

rate of 10% p.a., when the interest is

compounded yearly?

8000 #i;s dh jkf'k ij 10» okf"kZd nj ls 
2

2
5

o"kZ

esa izkIr lk/kj.k C;kt vkSj pØo`f¼ C;kt ds chp
varj (: esa) Kkr djsaA

SSC CGL 18/08/2021 (Morning)
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(a) 152.80 (b) 150

(c) 155 (d) 147.20

59. The simple interest on a sum of ` 50,000

at the end of two years is ` 4,000. What

would be the compound interest on the

same sum at the same rate for the same

period?

` 50]000 dh jkf'k ij nks o"kksZa ds var esa ` 4000
dk lkèkkj.k C;kt feyrk gSA blh jkf'k ij blh nj
ls blh vof/ dk pØo`f¼ C;kt Kkr djsaA

SSC CGL 07/03/2020 (Morning)

(a) ` 8,000 (b) ` 4,040

(c) ` 4,008 (d) ` 4,080

60. What is the compound interest (in Rs) at

the rate of 10%, compounded annually, for

3 years on the principal which in 8 years

at the rate of 12% per annum gives Rs

4,800 as simple interest?

fdlh ewy/u ij 12» okf'kZd C;kt nj ls 8 o"kkZsa esa
izkIr lk/kj.k C;kt #- 4]800 gSA mlh ewy/u ij 10»
dh pØo`f¼) C;kt dh nj ls] ftl ij C;kt okf"kZd
:i ls la;ksftr gksrk gS] 3 o"kksaZ esa izkIr gksus okyk
pØòf¼) C;kt Kkr (#- esa) dhft,A

SSC CGL 19.04.2022 (3rd Shift)

(a) 1,505 (b) 1,655

(c) 1,455 (d) 2,015

61. What sum of money is compound interest

will amount to ` 4630.08 in three years

if the rate of interest is 4% for the first

year, 5% for the second year and 6% for

the third year?

pØo`f¼ C;kt ij fdl jkf'k dk C;kt rhu o"kZ esa
` 4630-08 dk feJ/u nsxk ;fn C;kt dh nj igys
o"kZ ds fy, 4»] nwljs o"kZ ds fy, 5» vkSj rhljs
o"kZ ds fy, 6» gS\

SSC CHSL 26/10/2020 (Evening)

(a) ` 4500

(b) ` 4800

(c) ` 4000

(d) ` 3500

62. The simple interest on a sum of money at

10% per annum for 2 years is ` 8,100.

What would be the compound interest

(in `) on the same sum for the period at

15% p.a. When the interest is

compounded yearly?

2 lky ds fy, izfr o"kZ 10» dh nj ls ,d /u ij
lk/kj.k C;kt ` 8]100 gSA 15» izfr o"kZ dh nj ls
blh vof/ ds fy, blh jkf'k ij pØo`f¼ C;kt
(` esa) fdruk gksxk] ;fn C;kt okf"kZd :i ls la;ksftr
gksrk gS\

CPO 201924 /11/2020 (Evening)

(a) 13,061

(b) 8,100

(c) 14,671

(d) 12,751

63. If the difference between the compound

interest and simple interest at 17% on a

sum of money for 2 years (compounded

annually is ` 433.50 then the compound

interest (in `) is :

;fn ,d /ujkf'k ij 17» dh nj ls 2 o"kZ esa izkIr
pØo`f¼ C;kt vkSj lk/kj.k C;kt dk varj (okf"kZd
la;kstu) ` 433-50 gS] rks pØo`f¼ C;kt Kkr djsaA

SSC CHSL 2019 24/11/2020 (Morning)

(a) 5,333.50

(b) 2,735.50

(c) 5,100

(d) 2,500

64. The difference between compound interest

compounded annually and simple interest

on a certain sum at a rate of 15% per

annum for 2 years is Rs 1,944. Find the

compound interest compounded annually

(in Rs) on the same sum for the same

period at a rate of 10% per annum.

fdlh jkf'k ij 15» okf"kZd C;kt nj ls 2 o"kksaZ ds
okf"kZd :i ls pØo`f¼) gksus okys pØo`f¼) C;kt
vkSj lk/kj.k C;kt ds chp dk varj #- 1]944 gSA
blh jkf'k ij blh vof/ ds fy, 10» okf"kZd C;kt
nj ls izkIr gksus okyk pØo`f¼) C;kt (#- esa) Kkr
dhft,] ;fn C;kt okf"kZd :i ls la;ksftr gksrk gSA

SSC CGL 20.04.2022 (1st Shift)

(a) 18,060 (b) 27,216

(c) 18,144 (d) 20,500

65. What is the compound interest on a sum

of ` 7200 for 
2

2
5

 years at 20% p.a.,

interest compounded yearly (nearest to an

integer)?

` 7200 dh jkf'k ij 20» izfr o"kZ dh nj ls 
2

2
5

o"kks± dk pØo`f¼ C;kt Kkr djsa] ftldh pØo`f¼
okf"kZd gSA (,d iw.kk±d ds fudVre)

SSC CGL Tier-II 12/09/2019
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(a) ` 4,290 (b) ` 3,960

(c) ` 4,205 (d) ` 3,997

66. The compound interest on a sum of

` 20,000 at 15% p.a. for 
2

2
3

 years,

interest compounded yearly is :

2
2

3
 o"kks± ds fy, ` 20]000 ij 15» dh nj ls

pØo`f¼ C;kt Kkr dhft,] ;fn C;kt dk la;kstu
okf"kZd gSA

SSC CGL Tier-II 16/11/2020

(a) ` 9,098

(b) ` 9,095

(c) ` 8,896

(d) ` 9,000

67. A certain sum amounts to ` 4205.55 at

15% p.a. In 
2

2
5

 years interest

compounded yearly. The sum is :

,d fuf'pr jkf'k 15» izfr o"kZ dh nj ls 
2

2
5

 o"kks±

esa ` 4205-55 gks tkrh gS] tc C;kt dh pØo`f¼
okf"kZd gSA ;g jkf'k gS %

SSC CGL Tier II 13/09/2019

(a) ` 3,200 (b) ` 3,500

(c) ` 2,700 (d) ` 3,000

68. What is the compound interest on a sum

of ` 10,000 at 14% p.a. for 
5

2
7

 years

where the interest is compounded yearly?

(nearest to ` 1)

` 10000 dh jkf'k ij izfr o"kZ dh nj ls 
5

2
7
 o"kks±

dk pØo`f¼ C;kt Kkr djsa] tc C;kt dh pØo`f¼
okf"kZd gSA

SSC CGL 06/06/2019 (Afternoon)

(a) ` 4,259 (b) ` 4,296

(c) ` 4,439 (d) ` 4,394

69. A certain sum amount to ` 29,282 in 4

years at 10% per annum when the

interest is compounded annually. What is

the simple interest on the same sum for

same time at the same rate?

,d fuf'pr jkf'k 10» izfr o"kZ dh nj ls 4 o"kks± esa
` 29]282 gks tkrh gS] tc C;kt dh pØòf¼ okf"kZd
gSA blh jkf'k ij blh nj ls brus gh le; dk lkèkkj.k
C;kt Kkr djsaA

SSC CHSL 3/07/2019 (Afternoon)

(a) ` 8500 (b) ` 8000

(c) ` 7600 (d) ` 8400

70. A principal increases 21% with compound

interest in two years. Calculate the

simple interest for 4 years on ` 1000 at

the same rate of interest?

dksbZ ewy/u pØo`f¼ C;kt ds lkFk 2 o"kks± esa 21»
c<+ tkrk gSA ` 1000 ij leku C;kt nj ls 4 o"kks± esa
lk/kj.k C;kt fdruk gksxk\

SSC MTS 14/08/2019 (Morning)

(a) ` 320 (b) ` 400

(c) ` 360 (d) ` 420

71. A principal increases 50% at simple

interest in 5 years. What will be the

compound interest on ` 20000 for 3 years

at the same rate?

dksbZ ewy/u lk/kj.k C;kt nj ij 5 o"kks± esa 50»
c<+ tkrk gSA leku C;kt nj ds lkFk ` 20000 ij 3
o"kks± ds fy, pØo`f¼ C;kt fdruk gksxk\

SSC MTS 16/08/2019 (Evening)

(a) ` 6620 (b) ` 3310

(c) ` 5760 (d) ` 2800

72. The compound interest on a certain sum

for 3 years at 15% p.a. interest

compounded yearly is ` 4,167. What is

the simple interest on the same sum in

4
4

5
 years at the same rate?

fdlh fuf'pr jkf'k ij 15» izfr o"kZ dh nj ls 3
o"kZ dk pØo`f¼ C;kt (okf"kZd pØo`f¼) ` 4]167

gSA bl jkf'k ij blh nj ls 
4

4
5
 o"kks± dk lk/kj.k

C;kt Kkr djsaA
SSC CHSL 3/07/2019(Evening)

(a) ` 6,144 (b) ` 6,000

(c) ` 4,800 (d) ` 5,760

73. The compound interest on a certain sum

of money at 21% for 2 years is ` 11,602.5.

Its simple interest (in `) at the same rate

and for the same period is :

fdlh fuf'pr jkf'k ij 21» dh nj ls 2 o"kks± dk
pØo`f¼ C;kt ` 11]602-5 gSA bl nj ls blh vof/
ds fy, bldk lk/kj.k C;kt (` esa) Kkr djsaA

SSC CHSL 9/07/2019(Afternoon)

(a) ` 10,750 (b) ` 16,000

(c) ` 12,500 (d) ` 10,500
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74. A sum of ` 18,000 is invested for 16

mounths at 8% per annum compounded

half-yearly. What is the percentage gain at

` 18]000 dh jkf'k 8» izfr o"kZ v¼Zokf"kZd pØo`f¼
ij 16 eghuksa ds fy, fuos'k dh tkrh gSA izfr'kr
ykHk Kkr djsaA

SSC CPO 12/03/2019(Evening)

(a) 9% (b) 11%

(c) 10% (d) 12%

75. A sum of ` 12,000 is invested for 15

months at 10% per annum compounded

half yearly. What is the percentage

gain ?

` 12]000 dh ,d jkf'k 15 ekg ds fy, 10» izfr
o"kZ v¼Zokf"kZd pØòf¼ ij fuos'k dh tkrh gSA izfr'kr
ykHk Kkr djsaA

SSC CPO 13/03/2019(Morning)

(a) 13% (b) 13.1%

(c) 12.8% (d) 12.9%

76. What will be the compound interest on a

sum of ` 31,250 at 12% compound

interest (interest compounded yearly) in

2
2

3
 years?

` 31]250 dh ,d jkf'k ij 12» dh nj ls 
2

2
3

o"kZ dk pØo`f¼ C;kt (okf"kZd :i ls la;ksftr)
fdruk gksxk\

SSC MTS 19/08/2019 (Evening)

(a) ` 11,048 (b) ` 11,096

(c) ` 11,068 (d) ` 11,086

77. What is the compound interest on a sum

of ` 12,000 for 
5

2
8

 years at 8% p.a. when

the interest is compounded annually.

` 12]000 dh jkf'k ij 8» izfr o"kZ dh nj ls 
5

2
8

o"kks± dk pØo`f¼ C;kt fdruk gksxk tc C;kt dk
la;kstu okf"kZd fd;k tkrk gS\

SSC CGL 4/03/2020 (Morning)

(a) ` 2,697 (b) ` 2,654

(c) ` 2,712 (d) ` 2,642

78. On what amount, the interest

compounded semi-annually at 12% per

annum for one year is ` 1545?

fdl jkf'k ij ,d o"kZ ds fy, 12» izfr o"kZ dh nj
ls v¼Zokf"kZd la;ksftr pØòf¼ C;kt ` 1545 gS\

SSC CPO 14/03/2019 (Evening)

(a) ` 12,500 (b) ` 25,750

(c) ` 24,300 (d) ` 12,875

79 If the compound interest at 10% p.a.

compounded half-yearly for
1

1
2

 years is

` 2,522. The principal amounts is :

;fn 10» izfr o"kZ pØo`f¼ C;kt v¼Zokf"kZd :i ls
1

1
2
 o"kks± ds fy, ` 2]522 gS] rks ewy/u D;k gksxk\

SSC CPO 16 March June/2019 (Morning)

(a) ` 18,500 (b) ` 20,000

(c) ` 15,400 (d) ` 16,000

80. A sum of ` 10,000 is invested for 17 months

at 8% per annum compounded half yearly.

What is the percentage gain at the end of

17 month, nearest to one decimal place?

` 10]000 dh ,d jkf'k dks 17 ekg ds fy, 8% izfr
o"kZ vèkZokf"kZd pØo`f¼ ij fuos'k fd;k] tkrk gSA 17
ekg ds var esa ykHk izfr'kr Kkr djsaA

SSC CPO 13/03/2019 (Afternoon)

(a) 12.0% (b) 12.2%

(c) 12.4% (d) 11.8%

81. ` 20000 is invested on compound interest

(compounded half yearly) at the rate of

20% per annum, then what will be the

interest after two years?

` 20000 dh jkf'k 20» izfr o"kZ dh nj ls pØo`f¼
C;kt (v¼Zokf"kZd :i ls la;ksftr) ij fuos'k dh
x;h gSA nks o"kks± ds ckn C;kt fdruk gksxk\

SSC MTS 7/08/2019 (Afternoon)

(a) ` 8800 (b) ` 8824

(c) ` 9282 (d) ` 9428

82. A sum of ` 1200 is invested at compound

interest (compounded half yearly). If the

rate of interest is 10% per annum, then

what will be the amount after 18

months?

` 1200 dh jkf'k pØòf¼ C;kt (v/Zokf"kZd :i ls
la;ksftr) ij fuos'k dh x;h gSA ;fn C;kt dh nj 10»
izfr o"kZ gS] rks 18 ekg ds ckn feJ/u fdruk gksxk\

SSC MTS 08/08/2019 (Evening)7

(a) ` 1389.15 (b) ` 1185.45

(c) ` 1563.25 (d) ` 1295.35

83. If the rate of compound interest,

compounded half yearly, is 20% per

annum, then calculate the interest to be

paid on ` 100000 for 2 years.
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;fn pØo`f¼ C;kt nj 20» izfr o"kZ gS] v¼Zokf"kZd
:i ls la;ksftr] rks ` 100000 ds ewy/u ij nks o"kks±
dk C;kt fdruk gksxk\

SSC MTS 14/08/2019 (Morning)

(a) ` 46,410 (b) ` 44,000

(c) ` 21,000 (d) ` 33,100

84. What is the effective annual rate of

interest corresponding to a rate of 10%

per annum compunded half-yearly?

10» izfr o"kZ (v¼Zokf"kZd :i ls la;ksftr) dh nj
ls laxr izHkkoh okf"kZd C;kt nj fdruh gksxh\

SSC MTS 14/08/2019 (Afternoon)

(a) 10.75%

(b) 10.5%

(c) 10%

(d) 10.25%

85. What is the difference between the

compound interest on ` 10000 fo 2 years

at 20% per annum when the interest are

compounded half yearly and yearly?

` 10000 dh jkf'k ij 2 o"kZ ds fy, 20» okf"kZd
nj ij pØo`f¼ C;ktksa esa D;k varj gS] tc C;ktksa
dks Øe'k% v¼Zokf"kZd vkSj okf"kZd :i ls la;ksftr
fd;k tkrk gS\

SSC MTS 14/08/2019 (Afternoon)

(a) ` 440 (b) ` 241

(c) ` 441 (d) ` 240

86. What is the difference between the

compound interest (in Rs) compounded

yearly and compounded half yearly for 18

months at 20% per annum on a sum Rs

12,000?

C;kt dh x.kuk okf"kZd vkSj v¼Z&okf"kZd pØo`f¼
vk/kj ij dh tkrh gS] rks o"kZ 20» dh nj ij] 12000
#i;s dh jkf'k ij 18 eghus esa izkIr pØo`f¼ C;kt ds
chp varj (: esa) Kkr djsaAn

SSC CGL 24/08/2021 (Evening)

(a) 145 (b) 165

(c) 121 (d) 132

87. The difference in the compound interest

on a certain sum at 10% p.a. for one year,

when the interest is compounded half

yearly and yearly, is ` 88.80. What is the

simple interest on this same sum for 
2

1
3

years at the same rate?

fdlh fuf'pr jkf'k ij 10» izfr o"kZ dh nj ls ,d
o"kZ ds pØo`f¼ C;kt esa ` 88-80 dk varj vkrk gS]
tc C;kt dk la;kstu v¼Zokf"kZd vkSj okf"kZd fd;k

tkrk gSA blh jkf'k ij blh nj ls 
2

1
3
 o"kks± dk

lkèkkj.k C;kt fdruk gksxk\

SSC CGL 4/03/2020 (Afternoon)

(a) ` 5,916 (b) ` 5,986

(c) ` 5,980 (d) ` 5,920

88. What will be the difference in compound

interest on a sum of ` 7,800 at 8% for 1

year, when the interest is paid yearly and

half yearly?

` 7]800 dh jkf'k ij 8» dh nj ls 1 o"kZ ds pØòf¼
C;kt esa fdruk varj gksxk] ;fn C;kt dk Hkqxrku
okf"kZd rFkk v¼Zokf"kZd :i ls fd;k tkrk gS\

SSC CGL 6/03/2020 (Morning)

(a) ` 24.72 (b) ` 12.48

(c) ` 29.18 (d) ` 19.46

89. A certain sum amounts to ` 15,500 in 2

years at 12% p.a. simple interest. The

same sum will amount to what in 
1

1
2

years at 10% p.a., if the interest is

compounded half yearly (nearest to ` 1)?

dksbZ fuf'pr jkf'k 12» okf"kZd lk/kj.k C;kt dh
nj ij 2 o"kZ esa ` 15]500 gks tkrh gSA ;fn C;kt dh
x.kuk v¼Zokf"kZd pØo`f¼ vk/kj ij dh tkrh gS]

rks leku jkf'k 10» okf"kZd nj ij o"kZ 
1

1
2
 o"kZ esa

fdruh gks tk,xh\ (` 1 ds fudVre eku)

SSC CGL Tier-II 15/11/2020

(a) ` 14,470

(b) ` 13,460

(c) ` 14,360

(d) ` 715,125

90. The compound interest on a sum of Rs.

5,500 at 15% p.a. for 2 years, when the

interest compounded 8 monthly is:

` 5]500 dh jkf'k ij okf"kZd 15» dh nj ls 2 o"kZ esa
izkIr pØòf¼ C;kt Kkr dhft,] tc C;kt dh x.kuk
gj 8 eghus ij pØòf¼ vk/kj ij dh tkrh gSA

SSC CGL Tier-II 15/11/2020

(a) ` 1880 (b) ` 1,820.50

(c) ` 1,773.75 (d) ` 1,850



[ 12 ]

91. What will be the compound interest
(nearest to ` 1) on a sum of ` 25,000 for
2 years at 12% p.a., if the interest is
compounded 8-monthly?

` 25]000 ij 12» izfr o"kZ dh nj ls 2 o"kZ dh
pØo`f¼ C;kt D;k gksxk ;fn C;kt dh pØo`f¼ 8
ekg dh gS\

SSC CGL 4/06/2019 (Evening)

(a) ` 6,394 (b) ` 6,439

(c) ` 6,493 (d) ` 6,349

92. What is the compound interest on a sum

of ` 4,096 at 15% p.a. for 
1

2
2

 years, if the

interest is compounded 10-monthly?

` 4]096 ij 15» izfr o"kZ dh nj ls 
1

2
2

 o"kZ dk

pØo`f¼ C;kt Kkr djsa ;fn C;kt dh pØo`f¼ 10
ekg dh gSA

SSC CHSL 2/07/2019 (Evening)

(a) ` 1,726 (b) ` 1,736

(c) ` 1,636 (d) ` 1,763

93. What will be the compound interest on a

sum of ` 31,250 for 2 years at 12% p.a.,

if the interest is compounded 8-monthly?

` 31]250 dh ,d jkf'k ,d jkf'k ij 12» izfr o"kZ
dh nj ls 2 o"kks± dk pØo`f¼ C;kt Kkr djsa] ;fn
C;kt dh pØo`f¼ 8 ekg dh gSA

SSC CGL Tier-II 11/09/2019

(a) ` 8106 (b) ` 8116

(c) ` 8016 (d) ` 8156

94. What is the compound interest on a sum

of ` 8,100 for 
1

1
4

 years at 8% per annum,

if the interest to compounded 5-montly
(Nearest to ` 1)

` 8100 dh jkf'k ij 8» izfr o"kZ dh nj ls 
1

1
4

o"kks± dk pØo`f¼ C;kt Kkr djsa] ;fn C;kt dh
pØo`f¼ 5 ekg dh gSA (` 1 ds fudVre)

SSC CGL 7/06/2019 (Evening)

(a) ` 837 (b) ` 873
(c) ` 842 (d) ` 824

95. A certain sum is invested on compound

interest at 18% per annum for 1 year 4

months, the interest being compounded 8

monthly. If the compound interest is Rs

3816, then find the sum  (in Rs.).

,d fuf'pr èkujkf'k dks 18» okf"kZd pØo`f¼ C;kt
dh nj ij 1 o"kZ 4 ekg ds fy, fuosf'kr fd;k tkrk
gS] ftl ij C;kt dh x.kuk 8 ekfld pØòf¼ vkèkkj
ij dh tkrh gSA ;fn izkIr pØo`¼ C;kt #i;s 3816
gS] rks fuosf'kr èkujkf'k (:- esa) Kkr dhft,A

RRB NTPC CBT-2 (Level 6) 9/05/2022

(a) 15,000 (b) 14,800

(c) 14,580 (d) 15,500

96. The principal amount of Rs.100 becomes

equal to Rs. 121 in 2 years at a certain

rate of compound interest per annum.

Find the interest rate.

100 #i;s dh ewy jkf'k çfr o"kZ pØo`f¼ C;kt dh
,d fuf'pr nj ij 2 o"kks± esa 121 #i;s ds cjkcj
gks tkrh gSA C;kt nj Kkr dhft;sA
(a) 10% (b) 5%

(c) 21% (d) 11%

97. A sum of Rs. 6,400 invested on the basis

of yearly compounding of interest, grows to
Rs. 7,056 in two years. What is the

percentage rate of interest?

#- 6]400 dh jkf'k dk okf"kZd pØòf¼ C;kt ds vkèkkj
ij fuos'k fd;k x;k vkSj ;g jkf'k nks o"kks± esa #- 7]056
gks xbZA C;kt dh izfr'kr nj fdruh Fkh\

SSC MTS (Shift- I) 05/10/2021

(a) 4 (b) 7.5

(c) 5 (d) 6.25

98. A sum invested at compound interest amounts
to Rs. 7,800 in 3 years and Rs. 11,232 in 5
years. What is the rate per cent?

pØo`f¼ C;kt ij fuos'k dh XkbZ ,d jkf'k ij 3 o"kks±
esa izkIr feJ/u `7]800 vkSj 5 o"kks± esa izkIr feJ/u
`11]232 gSA izfr'kr C;kt nj Kkr dhft,A

SSC CGL 11.04.2022 (2nd Shift)

(a) 26% (b) 20%

(c) 15% (d) 18%

99. The compound interest and the amount

obtained, on a certain sum of money are

` 820 and 8820 respectively after 2 years.

If the rate of interest compounded yearly,

then the rate of interest is :

,d fuf'pr jkf'k ij 2 lky ckn pØo`f¼ C;kt
vkSj izkIr jkf'k Øe'k% ` 820 vkSj ` 8]820 gSA ;fn
C;kt dh nj okf"kZd :i ls la;ksftr gS] rks C;kt dh
nj gS %

SSC CHSL 13/10/2020 (Evening)
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(a) 8% (b) 6%

(c) 5% (d) 7%

100. At what rate percentage per annum will Rs

14,400 amount to Rs 15,876 in one year,

if interest is compounded half-yearly?

;fn C;kt v/Z&okf"kZd pØòf¼ gS] rks fdl nj izfr'kr
izfr o"kZ ij 14]400 dh /ujkf'k c<+dj 15]876 gks tk,xh\

SSC PHASE IX 2022

(a) 15%

(b) 12%

(c) 10%

(d) 8%

101. A sum of Rs 9500 amounts to Rs 11495 in

2 years at a certain rate percent per

annum, interest compounded yearly. What

is the simple interest (in Rs) on the same

sum for the same time and double the

rate?

9500 #i;s dh jkf'k 2 lky esa 11495 #i;s gks tkrh
gS] ,d fuf'pr nj çfr'kr çfr o"kZ] C;kt okf"kZd :i
ls la;ksftr gksrk gSA leku jkf'k ij leku le; vkSj
nqxuh nj ij lk/kj.k C;kt (# esa) fdruk gS\

SSC CGL 2020

(a) 3420 (b) 3990

(c) 3800 (d) 4560

102. The principal amount of Rs.1000 becomes

equal to Rs. 1331 in 3 years at a certain

rate of compound interest per annum.

Find the interest rate.

1000 #i;s dh ewy jkf'k çfr o"kZ pØo`f¼ C;kt dh
,d fuf'pr nj ij 3 o"kks± esa 1331 #i;s ds cjkcj
gks tkrh gSA C;kt nj Kkr dhft;sA
(a) 5% (b) 10%

(c) 15% (d) 30%

103. The principal amount of Rs. 2160

becomes equal to Rs. 3430 in 3 years at

a certain rate of compound interest per

annum. Find the interest rate.

2160 #i;s dh ewy jkf'k çfr o"kZ pØo`f¼ C;kt dh
,d fuf'pr nj ij 3 o"kks± esa 3430 #i;s ds cjkcj
gks tkrh gSA C;kt nj Kkr dhft;sA

       (a)
1

8 %
3

(b) 15%

(c)
1

12 %
2

(d)
2

16 %
3

104. The principal amount of Rs.24,000

becomes equal to Rs. 40,560 in 2 years at

a certain rate of compound interest per

annum. Find the interest rate.

24]000 #i;s dh ewy jkf'k çfr o"kZ pØo`f¼ C;kt
dh ,d fuf'pr nj ij 2 o"kks± esa 40]560 #i;s ds
cjkcj gks tkrh gSA C;kt nj Kkr dhft;sA
(a) 20% (b) 35%

(c) 30% (d) 25%

105. At what rate percent per annum, a sum of

` 6000 will become ` 7986 in 3 years, if

the interest is compounded annually?

` 6000 dh jkf'k 3 o"kZ esa fdrus izfr'kr izfr o"kZ
ij ` 7986 gks tk,xh ;fn C;kt okf"kZd :i ls la;ksftr
dh tkrh gS\

SSC MTS 9/08/2019 (Evening)

(a) 10% (b) 8%

(c) 12.5% (d) 11%

106. A sum of ` 3600 invested on compound

interest becomes ` 4900 in 2 years.

(interest is compounded annually) What

is the rate of interest per annum?

pØòf¼ C;kt ij fuosf'kr ` 3600] 2 o"kks± esa ` 4900
gks tkrs gSa (C;kt okf"kZd :i ls la;ksftr)A izfro"kZ
C;kt nj fdruh gS\

SSC MTS 19/08/2019 (Afternoon)

(a)
1

18 %
3

(b)
1

17 %
3

(c)
2

15 %
3

(d) ` 
2

16 %
3

107. At what rate per cent per annum will a

sum of ` 15,625 amount to ` 21,952 in

three years. If the interest is compounded

annually?

izfr o"kZ fdl C;kt nj ls] ` 15]625 dh ,d jkf'k
rhu o"kksZa esa ` 21]952 gks tk,xh] ;fn C;kt dk la;kstu
okf"kZd gS\

SSC CGL Tier-II 18/11/2020

(a) 12% (b) 8%

(c) 9% (d) 10%

108. The compound interest on ` 4000 after 3

years is ` 630.50. The the rate of interest

compounded yearly is :

3 lky ckn ` 4000 ij pØo`f¼ C;kt ` 630-50
gSA fiQj okf"kZd C;kt dh nj gS %

SSC CHSL 15/10/2020 (Morning)
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(a) 7% (b) 5%

(c) 8% (d) 6%

109. A sum of ` 12,000 amounts to ` 20,736

in 3 years at a certain rate percent per

annum, interest compounded annually.

What will the amount of the same sum be

in 2 years at the same rate on compound

interest?

` 12]000 dh jkf'k izfr o"kZ ,d fuf'pr nj ls 3
o"kks± esa ` 20]736 gks tkrh gS ftlesa C;kt dh pØòf¼
okf"kZd gSA ;g jkf'k pØòf¼ C;kt dh blh nj ls nks
o"kks± esa fdruh gks tk,xh\

SSC CGL 10/06/2019 (Morning)

(a) ` 15,640

(b) ` 17,820

(c) ` 17,280

(d) ` 14,520

110. ` 60000 invested at a certain rate for a

certain even number of years, compounded

annually, grows to ` 63,654. To how much

amount would it grow if it is invested at

the same rate for half period?

,d fuf'pr nj ij le la[;k ds o"kksaZ ds fy, fuos'k
fd;s x, ` 60000 okf"kZd pØo`f¼ ij c<+ dj
` 63]654 gks tkrs gSaA ;fn ;g jkf'k vk/h vof/ ds
fy, fuos'k dh tk,] rks ;g c<+ dj fdruh gks tk,xh\

SSC CHSL 04/07/2019 (Aternoon)

(a) ` 61800 (b) ` 61809

(c) ` 61675 (d) ` 61827

111. An amount becomes three times of itself

on compound interest (compounding

annually) in 4 years. In how many years

at the same rate on compound interest

(compounding annually) it will become 9

times of itself?

,d jkf'k pØòf¼ C;kt ij (okf"kZd la;kstu ij) 4
o"kksZa esa Lo;a dh rhu xquk gks x;hA leku nj ls pØòf¼
C;kt ij (okf"kZd la;kstu ij) ;g jkf'k fdrus o"kksZa
esa Lo;a dh 9 xquk gks tk,xh\

(a) 4 (b) 8

(c) 6 (d) 12

112. An amount becomes 27 times of itself on

compound interest (compounding

annually) in 9 years. In how many years

at the same rate on compound interest

(compounding annually) it will become 81

times of itself?

,d jkf'k pØòf¼ C;kt ij (okf"kZd la;kstu ij) 9
o"kksZa esa Lo;a dh 27 xquk gks x;hA leku nj ls pØòf¼
C;kt ij (okf"kZd la;kstu ij) ;g jkf'k fdrus o"kksZa
esa Lo;a dh 81 xquk gks tk,xh\

(a) 18 (b) 27

(c) 12 (d) 9

113. An amount becomes 27 times of itself on

compound interest (compounding

annually) in 15 years. In how many years

at the same rate on compound interest

(compounding annually) it will become 81

times of itself?

,d jkf'k pØo`f¼ C;kt ij (okf"kZd la;kstu ij)
15 o"kksZa esa Lo;a dh 27 xquk gks x;hA leku nj ls
pØo`f¼ C;kt ij (okf"kZd la;kstu ij) ;g jkf'k
fdrus o"kksZa esa Lo;a dh 81 xquk gks tk,xh\
(a) 15 (b) 30

(c) 45 (d) 20

114. An amount becomes 27 times of itself on

compound interest (compounding

annually) in 300 years. In how many

years at the same rate on compound

interest (compounding annually) it will

become 81 times of itself?

,d jkf'k pØo`f¼ C;kt ij (okf"kZd la;kstu ij)
300 o"kksZa esa Lo;a dh 27 xquk gks x;hA leku nj ls
pØo`f¼ C;kt ij (okf"kZd la;kstu ij) ;g jkf'k
fdrus o"kksZa esa Lo;a dh 81 xquk gks tk,xh\
(a) 300 (b) 400

(c) 900 (d) 1200

115. An amount becomes 125 times of itself

on compound interest (compounding

annually) in 30 years. In how many years

at the same rate on compound interest

(compounding annually) it will become

625 times of itself?

,d jkf'k pØo`f¼ C;kt ij (okf"kZd la;kstu ij)
30 o"kksZa esa Lo;a dh 125 xquk gks x;hA leku nj ls
pØo`f¼ C;kt ij (okf"kZd la;kstu ij) ;g jkf'k
fdrus o"kksZa esa Lo;a dh 625 xquk gks tk,xh\
(a) 30 (b) 60

(c) 40 (d) 120

116. An amount becomes 125 times of itself

on compound interest (compounding

annually) in 30 years. In how many years

at the same rate on compound interest

(compounding annually) it will become 5

times of itself?
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,d jkf'k pØo`f¼ C;kt ij (okf"kZd la;kstu ij)
30 o"kksZa esa Lo;a dh 125 xquk gks x;hA leku nj ls
pØo`f¼ C;kt ij (okf"kZd la;kstu ij) ;g jkf'k
fdrus o"kksZa esa Lo;a dh 5 xquk gks tk,xh\

(a) 10 (b) 15

(c) 20 (d) 5

117. A sum of money becomes 3 times in 10

years at the rate of compound interest

(compounded annually), In how many

years will it become 243 times?

dksbZ jkf'k pØo`f¼ C;kt (okf"kZd pØo`f¼ C;kt)
dh nj ls 10 o"kks± esa frxquh gks tkrh gSA ;g fdrus
o"kks± esa 243 xquk gks tk,xh\

SSC MTS 2/08/2019 (Evening)

(a) 40 years (b) 50 years

(c) 35 years (d) 30 years

118. If the difference between simple and

compound interest on a sum of money for

2 years at 5% p.a. is ` 125, the sum (in `)

is :

;fn fdlh jkf'k ij 5» izfr o"kZ dh nj ls nks o"kks±
ds lk/kj.k vkSj pØo`f¼ C;kt esa ` 125 dk varj
gS] rks ;g jkf'k (` esa) gS %

SSC MTS 14/08/2019 (Evening)

(a) ` 50000 (b) ` 5000

(c) ` 10000 (d) ` 1000

119. The difference between the compound

interest and simple interest on ` x at 8%

per annum for 2 years is ` 19.20. What

is the value of x?

8» izfr o"kZ dh nj ls ` x ij 2 o"kks± ds pØo`f¼
C;kt vkSj lk/kj.k C;kt esa ` 19-20 dk varj gSA x
dk eku D;k gS\

SSC CGL 11/06/2019 (Afternoon)

(a) ` 2,500 (b) ` 3,200

(c) ` 2,800 (d) ` 3,000

120. The difference between the compound

interest and simple interest on ` x at 8%

per annum for 2 years is ` 48. What is the

value of x?

` x ij 8» izfr o"kZ dh nj ls 2 o"kks± ds pØo`f¼
C;kt vkSj lk/kj.k C;kt esa ` 48 dk varj gSA x dk
eku Kkr djsaA

SSC CGL 12/06/2019 (Afternoon)

(a) 8,000 (b) 7,500

(c) 7,400 (d) 7,800

121. The difference between the compound

interest and the simple interest on a sum

at 10% p.a. for three years is ` 155. The

sum (in `) is :

fdlh jkf'k ij 10» izfr o"kZ dh nj ls rhu o"kks± ds
pØo`f¼ C;kt vkSj lk/kj.k C;ktesa ` 155 dk varj
gSA ;g jkf'k (` esa) gS %

SSC CHSL 11/07/2019 (Afternoon)

(a) ` 5,500 (b) ` 6,000

(c) ` 6,600 (d) ` 5,000

122. If the difference between the compound

interest compounded annually and the

simple interest on a certain sum of money

for three years at 10% per annum is Rs

279, then the sum (in Rs) is:

;fn ,d fuf'pr /ujkf'k ij] rhu o"kks Z a ds fy,
10» okf"kZd nj ls okf"kZd :i ls pØo`f¼ gksus
okyk C;kt vksj lk/kj.k C;kt dk varj :i;s 279
gS] rks og /ujkf'k (:i;sa esa) Kkr djsaA

SSC CHSL 4/08/2021 (Shift-03)

(a) 9000 (b) 10000

(c) 8000 (d) 7500

123. A sum becomes Rs.9000 on compound

interest (compounded annually) after six

year. This sum becomes Rs.13,500 on

compound interest (compounded

annually) at the same rate after 9 years.

What is the principal amount?

,d jkf'k Ng o"kZ ds ckn pØo`fèn C;kt (okf"kZd
pØc`f¼ ) ij 9000 :i;s gks tkrh gS ;g jkf'k 9
o"kZ ckn leku nj ij pØc`f¼ C;kt (okf"kZd
pØc`f¼ ) ij 13500 #i;s gks tkrh gS ewy/u D;k
gS\ \

(a) Rs. 6000 (b) Rs. 4000

(c) Rs. 4500 (d) Rs. 5000

124. A sum amounts to ` 8,028 in 3 years and

to ` 12,042 in 6 years at a certain rate

percent per annum, when the interest is

compounded yearly. The sum is:

dksbZ jkf'k C;kt dh okf"kZd pØo`f¼ ij izfr o"kZ
,d fuf'pr nj ls 3 o"kks± esa ` 8028 :i;s rFkk 6
o"kks± esa ` 12042 gks tkrh gSA ;g jkf'k gS%

SSC CGL 04/06/2019 (Morning)

(a) ` 5,352 (b) ` 5,235

(c) ` 5,325 (d) ` 5,253
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125. A sum amounts to ` 18,600 after 3 years

and to ` 27,900 after 6 years, at a certain

rate percent p.a., when the interest is

compounded annually. The sum is :

,d jkf'k izfr o"kZ fdlh fuf'pr nj ls 3 o"kZ esa
` 18]600 rFkk 6 o"kks± esa ` 27]900 gks tkrh gS] tc
C;kt dh pØòf¼ okf"kZd gSA ;g jkf'k Kkr djsaA

SSC CGL 7/06/2019 (Morning)

(a) ` 11,800

(b) ` 12,400

(c) ` 14,400

(d) ` 14,600

126. A sum of money becomes Rs 11,880 after

4 years and Rs 17,820 after 6 years on

compound interest, the interest is

compounded annually. What is the half of

the sum (in Rs) ?

,d /ujkf'k pØo`f¼ C;kt ij 4 o"kZ ckn 11]880
#i;s vkSj 6 o"kZ ckn 17]820 #i;s gks tkrh gS] C;kt
okf"kZd :i ls la;ksftr gksrk gSA /ujkf'k dk vk/k
(#i;s esa) D;k gS\

SSC CGL MAINS 29/01/2022

(a) 2,750 (b) 2,530

(c) 2,640 (d) 2,410

127. If an amount becomes ` 4000 after two

years and ` 6000 after four years at the

same rate of compound interest

(compounded annually), what is the amount?

;fn dksbZ jkf'k pØorhZ C;kt (okf"kZd la;ksftr) dh
leku nj ls nks o"kZ i'pkr~ ` 4000 rFkk pkj o"kZ
i'pkr~ ` 6000 gks tkrh gS] rks jkf'k fdruh gS\

SSC MTS 02/08/2019 (Afternoon)

(a) ` 2888.8

(b) ` 2666.66

(c) ` 2777.77

(d) ` 2866.66

128. A sum invested at compound interest

(compounded annual) amounts to ` 750 at

the end of first year and ` 900 at the end

of second year. What is the sum?

pØo`f¼ C;kt (okf"kZd pØòf¼) ij fuos'k dh x;h
dksbZ jkf'k igys o"kZ ds var esa ` 750 vkSj nwljs o"kZ
ds var esa ` 900 gks tkrh gSA ;g jkf'k fdruh gS\

SSC MTS 5/08/2019 (Morning)

(a) ` 700 (b) ` 625

(c) ` 600 (d) ` 650

129. A certain amount of ` 2400 after 6 years

at a certain rate of compound interest

(compounded annually) is ` 3600. What

will be the amount after 12 years at the

same rate of interest?

` 2400 dh jkf'k pØo`f¼ C;kt (okf"kZd :i ls
la;ksftr) dh fdlh fuf'pr nj ls 6 o"kks± esa ` 3600
gks tkrh gSA blh C;kt nj ls 12 o"kZ ckn feJ/u
fdruk gksxk\

SSC MTS 6/08/2019 (Evening)

(a) ` 6000

(b) ` 4800

(c) ` 5400

(d) ` 4500

130. A certain sum invested on compounded

interest grows ` 8000 and ` 27,000 in

three and six years, respectively when the

interest is compounded annually. What is

the percentage rate of interest?

pØo`f¼ C;kt ij fuos'k dh x;h ,d fuf'pr jkf'k
rhu vkSj N% o"kks± esa Øe'k% ` 8000 vkSj ` 27]000
c<+ tkrh gS tc C;kt dh pØo`f¼ okf"kZd gSA C;kt
dk nj izfr'kr D;k gS\

SSC CHSL 9/07/2019 (Evening)

(a) 25% (b) 0.5%

(c) 50% (d) 10%

131. If a sum amounts to ` 2,190 in four years

and `2,409 in five years at compound

interest, when the interest is compounded

yearly, then the annual rate of interest is:

;fn dksbZ jkf'k pØo`f¼ C;kt ij pkj o"kks± esa
` 2190 rFkk ikap o"kks± esa ` 2409 gks tkrh gS] tc
C;kt dh pØo`f¼ okf"kZd gS] rks C;kt dh okf"kZd
nj Kkr djsaA

SSC CGL 13/06/2019 (Evening)

(a) 8% (b) 10%

(c) 9% (d) 11%

132. If a sum becomes ` 1,460 in two years and

` 1,606 in three years due to the

compound interest, then annual rate of

interest is :

;fn dksbZ jkf'k pØòf¼ C;kt dh otg ls nks o"kks± esa
` 1]460 #i;s rFkk rhu o"kks± esa ` 1]606 cu tkrh gS]
rks C;kt dh okf"kZd nj D;k gS\

SSC CPO 15/03/2019 (Evening)

(a) 10% (b) 9%

(c) 11% (d) 8%
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133. A man invested a sum of money at

compound interest. It amounted to

` 12,100 in two years and to ` 13,310 in

three years. The rate of interest per

annum is :

,d O;fDr us dksbZ jkf'k pØo`f¼ C;kt ij fuos'k
dhA ;g nks o"kks± esa ` 12]100 gks x;h vkSj rhu o"kks±
esa ` 13]310 #i;s gks x;hA izfr o"kZ C;kt dh nj
gS %

SSC MTS 13/08/2019 (Evening)

(a) 11% (b) 9.5%

(c) 12.5% (d) 10%

134. A certain amount of money at

compounded interest grows to ` 66,550 in

3 years and ` 73,205 in 4 years. The rate

percent per annum is :

,d fuf'pr /ujkf'k pØo`f¼ C;kt ij 3 o"kks± esa
` 66]550 rFkk 4 o"kks± esa ` 73]205 gks tkrh gSA izfr
o"kZ nj izfr'kr Kkr dhft,A

SSC CGL 5/03/2020 (Evening)

(a) 10% (b) 5%

(c) 9% (d) 11%

135. A sum amounts to ` 7,562 in 4 years and

to ` 8,469.44 in 5 years at a certain rate

percent per annum. When the interest is

compounded annually, the rate of interest is:

,d jkf'k izfr o"kZ ,d fuf'pr nj izfr'kr ls 4 o"kks±
esa ` 7]562 rFkk 5 o"kks± esa ` 8]469 gks tkrh gSA C;kt
dh nj fdruh gS\

CPO 2019 23/11/2020 (Morning)

(a) 8%

(b) 12%

(c) 20%

(d) 15%

136. A sum lent out at compound interest

amount to ` 1,250 in one year and to

` 1,458 in 3 years at a certain rate

percentage p.a. What is the simple

interest on the same sum for 
2

5
3

 years

at the same rate of interest?

pØo`f¼ C;kt ij m/kj nh xbZ ,d jkf'k izfr o"kZ
,d fuf'pr nj izfr'kr ls ,d o"kZ esa ` 1]250 rFkk
3 o"kZ esa ` 1]458 gks tkrh gSA blh jkf'k ij blh

C;kt nj ls 
2

5
3
 o"kks± dk lk/kj.k C;kt fdruk gksxk\

SSC CGL 7/03/2020 (Afternoon)

(a) ` 600

(b) ` 520

(c) ` 500

(d) ` 480

137. A sum amounts to ` 7,562 in 4 years and

to ` 8,469.44 in 5 years, at a certain rate

percent per annum when the interest is

compounded yearly. If ` 10,000 at the

same rate of interest borrowed for two

years, then what will be the compound

interest (in `)?

tc C;kt dk la;kstu okf"kZd gS] rc ,d jkf'k izfr
o"kZ ,d fuf'pr nj izfr'kr ls 4 o"kks± esa ` 7]562
rFkk 5 o"kks± esa ` 8]469-44 gks tkrh gSA ;fn blh nj
ls ` 10]000 nks o"kks± ds fy, m/kj fy, tkrs gSa] rks
pØòf¼ C;kt fdruk gksxk\

CPO 2019 25/11/2020 (Morning)

(a) 1,736

(b) 1,965

(c) 2,544

(d) 2,764

138. The simple interest on a sum of money

for 2 years at certain rate of interest is

` 320. The compound interest, compounded

annually on the same sum for the same

duration and at the same rate of interest

is ` 384. The sum (in `) is:

fdlh jkf'k ij fdlh fuf'pr nj ls nks o"kks± dk
lk/kj.k C;kt ` 320 gSA blh jkf'k ij blh nj ls
bl vof/ dk pØo`f¼ C;kt (okf"kZd :Ik ls
la;ksftr) ` 384 gSA ;g jkf'k (` esa) gS %

SSC MTS 15/08/2019 (Afternoon)

(a) 400 (b) 250

(c) 200 (d) 309

139. The compound interest on a certain sum

at the end of two years is ` 408. The

simple interest on the same sum for the

same time is ` 400. The rate of interest

per annum is :

,d fuf'pr jkf'k ij nks o"kks± ds var esa ` 408 dk
pØo`f¼ C;kt feyrk gSA blh jkf'k ij blh vof/
dk lk/kj.k C;kt ` 400 gSA izfr o"kZ C;kt dh nj
fdruh gS\

SSC CGL 9/03/2020 (Evening)

(a) 4% (b) 80%

(c) 40% (d) 8%
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140. The simple and compound interests on a

certain sum of money are Rs. 400 and Rs.

420 in 2 years. Calculate the rate of

interest.

,d fuf'pr jkf'k ij 2 lky dk lk/kj.k vkSj
pØo`f¼ C;kt Øe'k% #- 400 vkSj #- 420 gS C;kt
nj dh x.kuk djsaA

(a) 20% (b) 10%

(c) 15% (d) 5%

141. The simple and compound interests on a

certain sum of money are Rs. 600 and Rs.

660 in 2 years. Calculate the rate of

interest.

,d fuf'pr jkf'k ij 2 lky dk lk/kj.k vkSj
pØo`f¼ C;kt Øe'k% #- 600 vkSj #- 660 gS C;kt
nj dh x.kuk djsaA

(a) 20% (b) 10%

(c) 15% (d) 5%

142. The simple and compound interests on a

certain sum of money are Rs. 200 and Rs.

214 in 2 years. Calculate the rate of

interest.

,d fuf'pr jkf'k ij 2 lky dk lk/kj.k vkSj
pØo`f¼ C;kt Øe'k% #- 200 vkSj #- 214  gS C;kt
nj dh x.kuk djsaA

(a) 12% (b) 14%

(c) 16% (d) 18%

143. The simple interest on a certain sum of

P at a rate of r% per annum for 3 years is

Rs 11,250 and the compound interest on

the same sum for 2 years at the same rate

percent p.a. is Rs 7,650. What is the value

of P and r, respectively?

,d fuf'pr /ujkf'k :i;s P ij r% izfr o"kZ dh nj
ls 3 o"kksZa ds fy, lk/kj.k C;kt :i;s 11250 gS] vkSj
/ujkf'k ij 2 o"kksZa ds fy, leku okf"kZd nj ij pØòf¼
C;kt :i;s 7650 gSA Øe'k% P vkSj r dk eku D;k gS\

SSC PHASE IX 2022

(a) Rs 92500 and 6%

(b) Rs 92500 and 7%

(c) Rs 93750 and 4%

(d) Rs 93750 and 5%

144. The compound interest on ` 4,000 at the

rate of 5% p.a. is ` 630.50, then the time

period is :

;fn ` 4000 ij 5» izfr o"kZ dh nj ls pØo`f¼
C;kt ` 630-50 gS] rks le; vof/ fdruh gS\

SSC CHSL 14/10/2020 (Morning)

(a) 2 years (b)
1

3
2

 years

(c) 3 years (d)
1

1
2

 years

145. In how many years will a sum of ` 320

amount to ` 405 if interest is

compounded at 12.5% per annum?

fdrus o"kks± esa ` 320 jkf'k c<+dj ` 405 gks tk,xh
vxj C;kt izfr o"kZ 12-5» ij pØòf¼ gS\

SSC CHSL 16/10/2020 (Afternoon)

(a) 2 years (b) 1 year

(c)
1

2
2

 years (d)
1

1
2

 years

146. A sum of Rs 100 is lent at 10% p.a.

compound interest. What is the difference

between the compound interest for the

second year and the third year?

100 :i;s dh jkf'k dks 10» çfr o"kZ pØòf¼ C;kt
dh nj ls m/kj fn;k tkrk gSA nwljs o"kZ vkSj rhljs
o"kZ ds pØòf¼ C;kt ds chp fdruk varj gS\
(a) Rs. 1 (b) Rs. 1.1

(c) Rs. 1.2 (d) Rs. 1.5

147. A sum of Rs. 4,000 is lent at 10% p.a.,

interest compounded annually. What is

the difference between the compound

interest for the 2nd year and the 3rd year?

10% okf"kZd pØo`f¼ C;kt dh nj ij #- 4]000 dh
jkf'k m/kj nh tkrh gS vkSj C;kt okf"kZd la;ksftr
gksrk gSA nwljs vkSj rhljs o"kZ esa izkIr pØo`f¼ C;kt
ds chp varj Kkr djsaA

SSC MTS (Shift- II) 08/10/2021

(a) Rs 44.00 (b) Rs 45.40

(c) Rs 46.50 (d) Rs 45.00

148. A sum of `15,000 is lent at 16% p.a.

compound interest. What is the difference

between the compound interest for the

second year and the third year?

` 15000 dh jkf'k dks 16» izfr o"kZ pØo`f¼ C;kt
ij m/kj fn;k tkrk gSA nwljs o"kZ vkSj rhljs o"kZ ds
pØo`f¼ C;kt esa varj Kkr djsaA

SSC CGL 06/06/2019 (Morning)
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(a) ` 544 (b) ` 445.44

(c) ` 454.88 (d) ` 548

149. A sum of Rs 2500 is lent at 4% p.a.

compound interest. What is the difference

between the compound interest for the

4th  year and the second year?

2500 :i;s dh jkf'k dks 4» çfr o"kZ pØòf¼ C;kt
dh nj ls m/kj fn;k tkrk gSA nwljs o"kZ vkSj pkSFks
o"kZ ds pØòf¼ C;kt ds chp fdruk varj gS\
(a) Rs. 12.64 (b) Rs. 17.65

(c) Rs. 8.48 (d) Rs. 2.34

150. A sum of Rs 100 is lent at 10% p.a.

compound interest. What is the difference

between the compound interest for the

5th  year and the 3rd  year?

100 :i;s dh jkf'k dks 10» çfr o"kZ pØòf¼ C;kt
dh nj ls m/kj fn;k tkrk gSA ikaposa o"kZ vkSj rhljs
o"kZ ds pØòf¼ C;kt ds chp fdruk varj gS\
(a) Rs. 4.62 (b) Rs. 2.541

(c) Rs. 6.64 (d) Rs. 1.21

151. If the compound interest in the third year

at 8% p.a. on a certain sum is ` 3600,

then what is the difference between the

compound interest in the 4th and 5th year?

(nearest to an integer in `)

;fn fdlh jkf'k ij 8» izfr o"kZ dh nj ls rhljs o"kZ
dk pØo`f¼ C;kt ` 3600 gS] rks pkSFks vkSj ik¡posa
o"kZ esa pØo`f¼ C;kt ds chp varj Kkr djsaA (fdlh
iw.kk±d ds fudVre #i;s esa)

SSC MTS 22/08/2019 (Evening)

(a) ` 304 (b) ` 335

(c) ` 288 (d) ` 311

152. A sum of ` 18000 is lent at 10% p.a.
compound interest, compounded annually.
What is the difference between the
compound interest for 3rd year and 4th

year?

` 18000 dh jkf'k 10» izfr o"kZ okf"kZd pØo`f¼
C;kt ij m/kj nh tkrh gSA rhljs vkSj pkSFks o"kZ ds
pØo`f¼ C;kt esa varj Kkr djsaA

SSC CGL Tier-II 11/09/2019

(a) ` 220.60 (b) ` 217.80

(c) ` 221.80 (d) ` 215.40

153. The annual intererst compounded on any
amount is ` 1,320 for the second year and
` 1,452 for the third year. What will be
the original amount at the beginning of
the first year?

fdlh jkf'k ij okf"kZd la;ksftr pØo`f¼ C;kt nwljs
o"kZ ds fy, ` 1]320 gS vkSj rhljs o"kZ ds fy,
` 1]452 gSA igys o"kZ dh 'kq:vkr esa ewy jkf'k fdruh
gksxh\

SSC CPO 15/03/2019 (Evening)

(a) ` 12,650 (b) ` 13,200

(c) ` 12,970 (d) ` 12,000

154. If the rate of interest is 20% per annum,
compounded yearly and the interest on a
certain sum in the second year is ` 250,
then what will be the interest on the
same sum in the fifth year?

;fn C;kt dh nj izfr o"kZ 20» gS rFkk pØo`f¼
C;kt okf"kZd gS vkSj fdlh fuf'pr jkf'k ij nwljs
o"kZ dk C;kt ` 250 gS] rks ik¡posa o"kZ esa bl jkf'k
ij C;kt fdruk gksxk\

SSC MTS 20/08/2019 (Morning)

(a) ` 518 (b) ` 400

(c) ` 360 (d) ` 432

155. If the rate of interest is 20% per annum,
compounded yearly and the interest on a
certain sum in the 5th year is Rs. 432,
then what will be the interest on the
same sum in the 2nd year?

;fn C;kt dh nj 20» çfr o"kZ gS] tks okf"kZd :i
ls la;ksftr gS vkSj 5osa o"kZ esa ,d fuf'pr jkf'k ij
C;kt #- 432] rks nwljs o"kZ esa mlh jkf'k ij C;kt
fdruk gksxk\
(a) Rs. 300 (b) Rs. 250

(c) Rs. 325 (d) Rs. 150

156. Compound interest received in the 3rd

year on a sum is Rs.442. If the annual

rate of interest is 15%, then how much

compound interest will be received in the

4th year on the same sum ?(interest is

compounded annually)

fdlh jkf'k ij rhljs o"kZ esa çkIr pØo`f¼ C;kt 442
#i;s gSA ;fn okf"kZd C;kt nj 15» gS] rks mlh jkf'k
ij pkSFks o"kZ esa fdruk pØo`f¼ C;kt çkIr gksxk\
(C;kt okf"kZd :i ls la;ksftr gksrk gS)
(a) Rs 512.7 (b) Rs 508.3

(c) Rs 514.3 (d) Rs 624.3

157. A sum of ` 10,500 amounts to ` 13,650

in 2 years at a certain rate per cent per

annum simple interest. The same sum

will amount to what in 1 year at the same

rate, if the interest is compounded half

yearly (nearest to ` 1)?
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` 10]500 :i;s dh ,d jkf'k izfr o"kZ ,d fuf'pr
nj izfr'kr ls 2 o"kks± esa ` 13]650 gks tkrh gSA ;gh
jkf'k blh nj ls 1 o"kZ esa fdruh gksxh] ;fn C;kt dk
la;kstu v¼Zokf"kZd gS\ (` 1 ds fudVre)

SSC CGL Tier-II 16/11/2020

(a) ` 12,134 (b) ` 12,314

(c) ` 12,124 (d) ` 12,143

158. ` 4,000 is given at 5% per annum for one
year and interest is compounded half
yearly. ` 2000 is given at 40% per annum
compounded quarterly for 1 year. The
total interest received is nearest to :

` 4]000 5» izfr o"kZ dh nj ls ,d o"kZ ds fy,
fn, tkrs gSa rFkk C;kt dh pØo`f¼ v¼Zokf"kZd gSA
` 2]000 1 o"kZ ds fy, 40» izfr o"kZ dh nj ls fn,
tkrs gSa rFkk C;kt dh pØo`f¼ =kSekfld gSA izkIr gksus
okyk dqy C;kt yxHkx fdruk gS\

SSC CHSL 13/10/2020 (Afternoon)

(a) ` 1444.40 (b) ` 1888.80

(c) ` 1130.70 (d) ` 1333.30

159. Rahul invested equal sums of money at
compound interest under two schemes A
and B. Under scheme A, the interest rate
was 10% per annum and under scheme B,
the interest rate was 12% p.a. The
compound interest after two years on the
sum invested in scheme A was ` 1,050.
How much is the interest earned under
scheme B after two years, if the interest
is compounded annually in both scheme?

jkgqy us nks ;kstukvksa A vkSj B esa pØòf¼ C;kt ij
cjkcj jkf'k;ka fuos'k dhA ;kstuk A esa] C;kt dh nj
10» izfr o"kZ Fkh rFkk ;kstuk B esa] C;kt dh nj
12» FkhA ;kstuk A esa fuosf'kr jkf'k ij nks o"kks± ds
fy, pØo`f¼ C;kt ` 1050 FkkA nks o"kks± ds ckn
;kstuk B esa fdruk C;kt izkIr gksxk] ;fn nksuksa gh
;kstukvksa esa C;kt dk la;kstu okf"kZd gSA

CGL 2019 Tier- II 18/11/2020

(a) ` 1270 (b) ` 1372

(c) ` 1722 (d) ` 1272
160. A sum of ` 7,500 amounts to ` 8,748 after

2 years at a certain compound interest
rate per annum. What will be the simple

interest on the same sum for 
3

4
5

 years

at double the earlier interest rate?
` 7]500 dh jkf'k izfr o"kZ pØo`f¼ C;kt dh ,d
fuf'pr nj ls 2 o"kZ esa ` 8]478 gks tkrh gSA blh

jkf'k ij igys dh rqyuk esa nksxquh nj ls 
3

4
5
 o"kks±

dk lk/kj.k C;kt fdruk gksxk\
SSC CGL 2/07/2019 (Afternoon)

(a) ` 4,140 (b) ` 5,520

(c) ` 8,180 (d) ` 2,760

161. A sum of ` 10,000 amounts to ` 11,664

in 2 years at a certain rate percent per

annum, when the interest is compounded

yearly. What will be the simple interest

on the same sum for 
2

5
5

 years at the

same rate?

` 10]000 dh ,d jkf'k izfr o"kZ okf"kZd pØo`f¼
C;kt dh ,d fuf'pr nj ls 2 o"kZ esa ` 11]664 gks

tkrh gSA blh jkf'k ij blh nj ls 
2

5
5
 o"kks± dk

lkèkkj.k C;kt Kkr djsaA

SSC CHSL 3/07/2019 (Morning)

(a) ` 4,320 (b) ` 4,160

(c) ` 3,840 (d) ` 4,040

162. Divide Rs.66,300 between A and B in such

a way that the amount that A receives

after 8 years is equal to the amount that

B receives after 10 years; with compound

interest being compounded annually at a

rate of 10% per annum.

#- 66]300 dks A vkSj B ds chp bl çdkj foHkkftr
djsa fd A dks 8 o"kZ ckn çkIr gksus okyh jkf'k 10
o"kkZsa ds ckn B çkIr gksus okyh jkf'k ds cjkcj gks]
tcfd C;kt dh nj okf"kZd :i ls pØòf¼) gksus okyh
10» okf"kZd gSA

SSC CGL 20.04.2022 (3rd Shift)

(a) A = Rs.35,200, Rs.B = 31,100

(b) A = Rs.36,300, Rs.B = 30,000

(c) A = Rs.37,000, Rs.B = 29,300

(d) A = Rs.35,520, Rs.B = 30,810

163. Joseph deposited a total of Rs.52,500 in a

bank in the names of his two daughters

aged 15 years and 16 years in such a way

that they would get equal amounts when

they become 18 years old. If the bank

gives 10% compound interest compounded

annually, then what is the amount (in Rs.)

that Joseph had deposited in the name of

his younger daughter ?

tkslsiQ us 15 lky vkSj 16 lky dh viuh nks csfV;ksa ds
uke ,d cSad esa #i;s 52]500 tek fd, rkfd 18 lky
dh mez esa mUgsa cjkcj jde fey tk, ;fn cSad okf"kZd
10» pØòf¼ C;kt nsrk gS] rks tkslsiQ us viuh NksVh csVh
ds uke ij fdruh jkf'k (#- esa) tek dh Fkh\

SSC CGL 18.04.2022 (2nd Shift)
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(a) 25,500 (b) 26,000

(c) 24,500 (d) 25,000

164. A and B together borrowed a sum of

` 51,750 at an interest rate of 7% p.a.

compounded interest in such a way that

to settle the loan. A paid as much amount

after three years as paid by B after 4 years

from the day of borrowing. The sum (in `)

borrowed by A was :

A rFkk B us ,d lkFk 7» izfr o"kZ dh nj ls ` 51]750
dh jkf'k bl izdkj m/kj yh fd Í.k pqdrk djus
ds fy, A us m/kj ysus okys fnu ls rhu o"kks± ds ckn
mruh gh jkf'k dk Hkqxrku fd;k ftruh jkf'k dk
Hkqxrku B us 4 o"kks± ds ckn fd;kA A ds }kjk m/kj
yh x;h jkf'k (` esa) gS %

SSC CGL 5/03/2020 (Afternoon)

(a) ` 25,000 (b) ` 25,650

(c) ` 24,860 (d) ` 26,750

165. Amit borrowed a sum of ` 25,000 on

simple interest. Bhola borrowed the same

amount on compound interest (interest

compounded yearly). At the end of 2

years, Bhola had to pay ` 160 more

interest than Amit. The rate of interest

charged per annum is:

vfer us lk/kj.k C;kt ij ` 25]000 dh jkf'k mèkkj
yhA Hkksyk us bruh gh jkf'k pØo`f¼ C;kt (C;kt dk
la;kstu okf"kZd) ij mèkkj yhA 2 o"kks± ds var esa]
Hkksyk dks vfer ls ` 160 vf/d C;kt dk Hkqxrku
djuk iM+kA izfr o"kZ yxk, x, C;kt dh nj gS%

SSC CGL 06/03/2020 (Afternoon)

(a)
1

3
8

% (b) 
16

%
25

(c) 8% (d) 
8

%
25

166. A certain sum amounts to Rs 11,520 in 4

years at the rate of 15% p.a. simple

interest. What will be the amount of the

same sum in 2 years at the same rate, if

the interest is compounded 8-monthly

(nearest to a Rs)?

,d fuf'pr jkf'k 15» çfr o"kZ dh nj ls 4 o"kks± esa
11]520 #i;s gks tkrh gSA lk/kj.k C;ktA leku jkf'k
dh jkf'k 2 o"kks± esa leku nj ls fdruh gksxh] ;fn
C;kt 8 ekfld (,d #i;s ds djhc) la;ksftr fd;k
tkrk gS\

SSC PHASE IX 2022

(a) Rs 9,853 (b) Rs 9,338

(c) Rs 9,583 (d) Rs 9,538
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1. (b)

2. (a)

3. (b)

4. (a)

5. (c)

6. (a)

7. (a)

8. (a)

9. (d)

10. (c)

11. (c)

12. (b)

13. (d)

14. (d)

15. (a)

16. (a)

17. (b)

18. (a)

19. (a)

20. (a)

21. (b)

22. (b)

23. (d)

24. (b)

25. (c)

26. (c)

27. (b)

28. (d)

29. (b)

30. (b)

31. (c)

32. (b)

33. (b)

34. (b)

35. (c)

36. (d)

37. (b)

38. (c)

39. (d)

40. (d)

41. (a)

42. (c)

43. (b)

44. (d)

45. (b)

46. (b)

47. (a)

48. (c)

49. (b)

50. (a)

51. (a)

52. (d)

53. (c)

54. (b)

55. (a)

56. (d)

57. (d)

58. (d)

59. (d)

60. (b)

61. (c)

62. (a)

63. (a)

64. (c)

65. (d)

66. (b)

67. (d)

68. (*)

69. (b)

70. (b)

71. (a)

72. (d)

73. (d)

74. (b)

75. (a)

76. (d)

77. (a)

78. (a)

79. (d)

80. (d)

81. (c)

82. (a)

83. (a)

84. (d)

85. (b)

86. (d)

87. (d)

88. (b)

89. (a)

90. (b)

91. (c)

92. (b)

93. (b)

94. (a)

95. (a)

96. (a)

97. (c)

98. (b)

99. (c)

100. (c)

101. (c)

102. (b)

103. (d)

104. (c)

105. (a)

106. (d)

107. (a)

108. (b)

109. (c)

110. (a)

111. (b)

112. (b)

113. (d)

114. (b)

115. (c)

116. (a)

117. (b)

118. (a)

119. (d)

120. (b)

121. (d)

122. (a)

123. (b)

124. (a)

125. (b)

126. (c)

127. (b)

128. (b)

129. (c)

130. (c)

131. (b)

132. (a)

133. (d)

134. (a)

135. (b)

136. (c)

137. (c)

138. (a)

139. (a)

140. (b)

141. (a)

142. (b)

143. (c)

144. (c)

145. (a)

146. (b)

147. (a)

148. (b)

149. (c)

150. (b)

151. (d)

152. (b)

153. (d)

154. (d)

155. (b)

156. (b)

157. (a)

158. (c)

159. (d)

160. (b)

161. (a)

162. (b)

163. (d)

164. (d)

165. (c)

166. (c)

Answer Key
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